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Himachal Pradesh Board Sample Paper 2021-22

Session—-2021-22
Mathematics (7furg)

Class-10th
IInd Terminal Examination Model test Paper

Time : 3 hi, Maximum Marks : 50
Part-A
Uk 3ick aiet 94 : All questions carry one mark each
(1%20 =20)
Q. 1. c¢osb X sec6  ..........
() -1 (@) 1 () o
cosB X sechd ...
(a) -1 (b) ()6
Q.2. 07 m U= & &9 tand 27X cot8 T A S R
(&) 30° (@) 45° () 6oe
For which angle (8) the values of tane and cot8 are
equal
(a) 307 (b) 45 (¢) o0°
Q3. THTA R cermrrrreererers UL/ AR W97 3ETe & Wehe!
¥l
(@) 2 (m)y 3
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Acircle canhave ... parallel tangents at the most

(a) 1 (by 2 (c)
Q.4. T it uRiY 3R SATH HT STUT woovevvvrnrnn., BT G

() 2m: 1 (@) w1 (F) 1:1

s

The ratio of circumfirence and diameter of a circle is

(a)2 1 : 1 (b)ym: 1 et I
Q.5. ] S0 ATl 0 ST STAAT covvnreesssnnense B
(&%) PP (@) 6 (W) 28
The volume of a cube having side /15 .............
fay .f° (b) 6/ (¢c) 2F
Q.6. AENAT eI o Hid, Aredeh 3N ageih o did Sted
WY T

(%) FgeTeh = 3 AIe®-HIey

(W) ggoTdh = 2 WS- 1t

(1) "ol = 3 HIYHE- 2 HI¥

The emperical relationship between mean, median and

mode 1s

(ay mode = 3 median- mean  (b) mode =2 median
- mean

(¢) mode = 3 median - 2 mean.
9
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Q.7. ARP(AFET) =0.04 @ PA) FHAE
()  0.04 (") 0.06 (77)  0.96
If P(A) = 0.04 Than value of P(A) Is -
(@)0.04  (b)0.06 (¢c) 096

Q.8. P R R— !
(¥) cosech (@) secH () cotd
o' |
RO, s
(a) coscch (b) sece (c) cot @
Q.9.  sindS°HHEA ..o el
(%) 1 (g) \%2 () —2I-
‘The value of sin45°is ...........
I I
(a)l (b) v—ﬁ (¢c) 7
Q.10. e g ekt Brean 14cm ¥, a s@est whife gnft .
(&) 144em (@) 44em®  (71) 88cm
The radius of a circle is 14cm then its circumferene
1S i
(a) 144cm (b) 4dem”  (¢) 88em
10
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Q.11.

Q.12.

Q.13.

- Toen wien | foder S anet vis o e g L
gr !
(&) 2me! (&) nr/ My mr+/

A cone with slant height / and having radius r then its
curved surface area will be ............

(a) 2mr/ (b) mr/ (¢} mnr+l
n
.
ee ~] 4| 2 xh
(F) n (@) / am f
n
¢
Median = 1+| 2 xh
ta) n (b} (¢) ¢

Frefefiaa & & s ot dean fret w5 urfaesar w2t
& Wk |

(%) 0.8 () 2.3

which of the following cannot be the probability of
an event.

(a) 0.8

(@) 9%

{(b) 9% e 23
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Q.14.

A

J.16.

Q.17.

Q.15.

SIRMF ocenidannsiisi =1

(%) tan*e (") cos?B (1) cosec?d
SIO 4 e =1

(a) tan’0 (b) cos?®  (¢) cosec’d

sin2 A = 2sinA e T €T €, Safe A quen @

(&) o (%) 200 (1) 45
sin2A=2sin Ais true when A= ...

(a) 0° (b) 30° (c) 45°

foar R aret 9 % 3% Braras @ dewa frgert s pe
B wesssrrens BT

(F) ~]—Z—6><2rcR ('ag)-—é%XETTR 1) %xmf
The area of a sector of angle p° of a circle with ra-
dius R is.

MR (b)) =-x2R () ==X 27K

(El} LJ

2180 360 720

T T S o= %, 9% 39! famd 20ecmx 15cm
x 3.5cm #t1

(er) 38.5 cm? (@) 38.5cm’ (&) 1050cm?

The volume of a cuboid having dimensions 20cm x
[5emx 3.5em

(a) 38.5cm? (b) 38 5¢cm’ (¢) 1050cm?
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Q.18. vuq '7', U AR T AL ovvvvrcverrerers ©

(=) 12 () 9 (M) 8
Mean of [st seven even numbers is ...,
(a) 12 (b) 9 (c) 8
Q.19. T v 1 T IR S w2 fqvn gem e 26 ) i
................. B |
I 2 1
(%) &% () 3 () 5

A dice 1s thrown once then the probability to get odd
number 18 ............

I
(a) (b)

I
6 (e) E

L | o

0.20. 3cm Frowm ared avef Mot =61 oA ©

198 792 4 396
(%) ?cm (@) —em’ () —em
7

The volume of a hemisphere having radius 3cm is :-

198 792 2%
(a) Tcmj (b) —2—cm" (&) —_f—'(écm3
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Part-B (41-9)

2 3Teh et U9 (7 oA W | RIS 4 9T T )

All question carry 2 marks each (4+<2=8)
(Attempt any 4 questions out of 7 questions)

Q.1 w4 V3 ore 3 5 wrelt 12 € 30 99 § 4w i

areeesd] TAsTel St § | 39 wifshal #41 € T e U oe
TR 2
A bag contains 3 red balls and 5 black balls. A ball is

drawn at random from the bag what is the probabil-
ity that the ball drawn is red ?

. AT cos A 3T tan A &1 519 §1d wifsg |

I | e

Q.2. SmmA=

! 3 , .
SinA= 2 than find the value of cosA and tan A.

Q3. 7.6cm wHar sk Y@TEE Witad o 39 5 : 8 % arqura F
faunfoa =nifag!
Draw a line segment of length 7.6¢m and divide it in
the ratio of 5:8.

Q4. 52 Il =T 3T=3] YhR W2 E U e H 9 U g FrpTen
ST & | FTE $0 o] SRS WIS %23 w1 AT 5 i |
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One card is drawn from a well-shuffled deck of 52
cards. Calculate the probability to get a king of red
color.

Q5. Al us fag PR O 3% 9t feft g9 w0 PA, PB gl
TN YT 80° % I R g B, 1 LPOA 36 Hif
If tangents PA and PB from a point P to a circle with
centre '0" are inclined to each other at angle of 80°,
than find the value of ZPOA.

Q.6.  Gom forsar aret 9 & U Freange w1 et 71d HifAy,
feraent w107 600 ¥
Find the area of a scctor of a circle with radius 6 cm
if angle of the sector is 60"

Q.7.  Ztan*45° + cos? 30° — sin? 60° =1 919 W FHfSIU -

find the value of : 2tan?45° + cos? 30° sin? 60°
3 37k ATl U9 (7 UV W W W 4 WY Ay )
All question carry 3 marks each (4x3 =12)
(Attempt any 4 question out of 7 questions)
Q8. uFmwuetHl firge %ty frat vt 14cm ¥igwwd s
foee 7 < ararwa a1 wifsre |
The lenght of the minute hand of a clock is 14cm.
Find the area swept by the minute hand in 5 minutes.

15
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; : 1 ]
Q.9. AR sin (A-B)= 5-C0s(A+B)=- 0°<A+B<

90°, A== B, 1A it B 3/ wifau

.. I
If sin (A -B) = 5 5008 (A+ B) =

90°, A > B, find A and B.

Q.10. =™ lem arelt §cm A W& 1 UF w5 F1 U GHH e
et 18m &= U 7R & ©9 F i 5 ¥ 198 FHRE 9
HIfTT
A copper cyclinder of diameter 1em and length 8em
is drawn into a wire of length 18m of uniform thick-
ness. Find the thickness of the wire.

Q.11. u& &= o g T v € frad woe] w fasfafay e
sifwra &
A B @ D E A
$H T H1 Uk R e WS TAST 4 gifawa) £
() AW 8T (1) D v &)
A child has a dice whose six faces show the letters
as given below :
A B C D E A

,UP<A+B<

| —
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The dice 1s thrown once : what is the probability of
getting (DA ? (1) D ?

Q.12 fag wifse =1 femet g o foret euma T o et e el
LY i gt & |
Prove that the tangents drawn at the ends of a diam-
eter of a circle are parallel.

Q.13.  Hied 99M dardl ozt 9 3= 240m i ey e 6em
AT Toh ¥ 91 791 € | T o= F 39 1A 6 sTR o 98e
fean 1 et =t B @ =it
A cone of height 24cm and radius o! base 6em is
made-up of modelling clay. A child reshapes it in the
form of a sphere. Find the radius of the sphere.

Q.14. Scm B & wen g et <1 vyl Ty #fEu S gt
60° & IV I FHT B |
Draw a pair of tangents to a circle of radius 5cm
which are inclined to each other at an angle of 60°
5 3feh arel Woa (4 W91 W & 1E 2 UvT )
All questions carry 5 marks each (2<5=10)
(Attempt any 2 question out of 4 questions)
Q.15 Trar dem =t ©F 97 % Brads #1 dmwe e b,
FSTereht 1T 300 & | wrer &, sy S By @ duge o
A WIS (70 = 3.94 w1 990 & ifsru)
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Q.10.

Q.17.

Q.18.

Find the area of the sector of a circle with radius
4em and of angle 30°. Also, find the area of the cor-
responding major sector (use © = 3.14)

YA W Tk WAR St wE § ) et & o s |, S
TR & g fog & 15m 2T &, WHR & foren &1 =11 w
60° % | TR 1 H97E A4 Fifsrg |

A tower stands vertically on the ground from a point
on the ground, which 1s 15m away [rom the foot of
the tower, the angle of elevation of the top of the
tower 1s found to be 60°. Find the height of the tower.
famsil 5.5x 10cm < 3.5¢m 9T UF AW =9H & o,
75cm =AM #HR 2mm T are fRad wiet & foaent w5y
freremr a2 7
How many silver coins 1.75 e¢m in diameter and of
thickness 2mm, must be melted to form a cuboid of
diameter 5.5 cm x 10cm x3.5 em 7
ferenfefal & e wqE 5 T giges & 20 wfar w i g
geero & wRomrersy ffieT afert % geei = e 9
Gefea fr=rferfed sews o g

‘ giian |19 1-3 35

| sharisigen| 7 s | 2

37 SiFET 1 TR [ HIY |

18
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A survey conducted on 20 households in a locality
by a group of students resulted in the [ollowing fre-
quency table for the number of family members in a
houscholds

Family size 1-3 | 3-5 | 5-7 179 [9-11
Number of families 7 8 ’ 2 2 |
Find the mode of this data.
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